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Step 1

Directions; Read the following four passages. Each passage is followed
by several questions or unfinished statements. For each of them there are
Sfour choices marked A, B, C and D. Choose the one that fits best

according to the information given in the passage you have just read.

(A)

A man once said how useless it was to put advertisements in the
newspapers. “Last week,” said he, “my umbrella was stolen from a
London church. As it was a present, I spent twice its worth in
advertising, but didn’t get it back. ”

“How did you write your advertisement?” asked one of the
listeners, a merchant.

“Here it is,” said the man, taking out of his pocket a slip cut from
a newspaper. The other man took it and read, “Lost from the City
Church last Sunday evening, a black silk umbrella. The gentleman who
finds it will receive ten shillings on leaving it at No. 10 Broad Street. *

“Now,” said the merchant, “I often advertise, and find that it pays
me well. But the way in which an advertisement is expressed is of
extreme importance. Let us try for your umbrella again, and if it fails,
I’ll buy you a new one. ”

The merchant then took a slip of paper of his pocket and wrote: “If
the man who was seen to take an umbrella from ther()ity Church last
Sunday evening doesn’t wish to get into trouble, he will return the
umbrella to No. 10 Broad Street. He is well known. ”

This appeared in the paper, and on the following morning, the man
was astonished when he opened the front door. In the doorway lay at
least twelve umbrellas of all sizes and colors that had been thrown in,
and his own was among the number. Many of them had notes fastened
to them saying that they had been taken by mistake, and begging the
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loser not to say anything about the matter.

1. The man once thought advertising was
A. of little use B. of some use
C. practical D. valuable
2. The merchant suggested that the man should
A. buy a new umbrella
B. go on looking for his umbrella
C. write another better advertisement
D. report it to the police
3. Why did the merchant say “I often advertise and find that it pays me
well”?
A. He knew how to advertise.
B. He had more money for advertising.
C. He found it easy to advertise.
D. He had a friend in the newspaper where he advertised.
4. This is a story about
A. a useless advertisement
B. how to make an effective advertisement
C. how the man lost and found his umbrella
D. what the merchant did for the umbrella owner

(B)

Medical science has collected a lot of information about
sleepwalking, yet much remains unknown as well. Classic sleepwalking
most often occurs in otherwise healthy children, usually from age 6 to
12. What causes sleepwalking? It is genetic (G {& ). There are many
ways that can set off sleepwalking in a person. For example, the
sleepwalker is asked to travel across time zones or takes medicine. But
still we do not know why they are effective. Scientists have found that
while sleeping, the sleepwalker’s parts of the brain that control sleeping
and walking are still working while the other parts of the brain are in a
state of rest.

The sleepwalker’s action may be simple, such as sitting up in bed or
walking about, or more complex, such as dressing and undressing or

going to the bathroom. Some sleepwalkers have even driven cars.

LA



Some scientists describe sleepwalking as a state between sleeping
and wakefulness. What a person experiences during this state is the
biggest secret of all. The sleepwalker will usually have a blank (L % 1§
#)) face and be not able to conduct conversations with other people.
When they are awoken, sleepwalkers are generally not able to remember
anything about their experience. Scientists do not know what they have
been going through, because they can not tell you what they have done.

Some statistics show that sleepwalking occurs in 10 to 30 percent of
all children, and 1 to 7 percent of all adults. This shows that
sleepwalking is more popular among children than among adults.

5. From the passage we know that medical scientists
A. have had a complete knowledge of sleepwalking
B. know nothing about the cause of sleepwalking
C. have invented some new medicine for sleepwalking
D. have not yet solved every problem about sleepwalking
6. What is the cause of sleepwalking?
A. One gets it from his older generations.
B. One travels across time zones.
C. One takes too much medicine.
D. One’s brain is too active.
7. According to the passage, the number of child sleepwalkers is
A. much larger than that of adult sleepwalkers
B. almost the same as that of adult sleepwalkers
C. smaller than that of adult sleepwalkers
D. not so astonishing as that of adult sleepwalkers
8. Which of the following about sleepwalking is TRUE according to the
passage?
- Doctors have found effective ways to cure sleepwalking.
Sleepwalking can be cured easily.
When some children are grown up, their sleepwalking may disappear.

SRl

Once developed, sleepwalking cannot be cured.
{(0))

Nothing was going right for Dr. Turner at the hospital. He made a
mistake while operating on a patient. He felt sure he was no longer
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trusted and decided to change his job. One day he learned from the paper
that a doctor was looking for a partner. The doctor, whose name was
Johnson, lived in Thorby, a small town in the north of England.

A few days later Dr. Turner went to Thorby, and arrived at Dr.
Johnson’s home early in the afternoon. Though old and a little deaf,
Dr. Johnson still had a good brain. He kept talking to the visitor about
the town and its people. When they turned to the question of
partnership, it was already seven in the evening. Dr. Johnson invited
Dr. Turner to have dinner with him in a restaurant before catching the
train back to London. Dr. Turner noticed that Dr. Johnson was fond of
good food and expensive wines. They had an excellent meal. When the
bill was brought, Dr. Johnson felt in his pocket. “Oh, dear,” he said.
“I’ve forgotten my money. ” “That’s all right,” Dr. Turner said. “I’ll
pay the bill. ” As he did so, he began to wonder whether Dr. Johnson
was worthy of trust.

9. Dr. Turner decided to leave his present job because

A. he had never been trusted

B. it demanded too great skills

C. he believed it offered little hope for his future

D. he thought the hospital would like him to leave
10. The two doctors spent most of the afternoon talking about

A. things of no interest to Dr. Johnson

B. things of no importance to Dr. Turner

C. health matters

D. food and drink
11. The story suggests that

A. Dr. Johnson did not like Dr. Turner

B. the two doctors would become friends

C. the two doctors would not work together

D. Dr. Turner decided to stay at his present job

(D

If you can find a tree which has been cut down, you will see many
rings, or circles, on the base of the trunk. By learning to read these
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rings, you can find out about the tree’s life.

The number of rings tells you how old the tree is. Each year, new
wood is formed on the outside of the tree. This new wood is light in
colour when the tree is growing in spring and summer, and dark in
winter when the tree is not growing much. So, if you count the rings of
dark-or-light-coloured wood, you can often find out how old the tree is.

You can also tell which years have been good years and which years
have been bad years. When the light-coloured rings are very wide, it
means that the tree has been growing quickly that year. If the light rings
are narrow, it has been growing slowly. If the rings on a tree trunk
were greatly magnified (LK), you would be able to see why the rings
are light-coloured when the tree is growing quickly, and dark-coloured
when the tree is growing slowly. The tree trunk is made up of
microscopic tubes (5 4 % ), like long pipes, carrying water from the
soil, through the trunk, and up to the leaves. They are wide and thin-
walled when the tree is growing quickly and they are carrying a lot of
water. They are narrow and stuck together when the tree is not growing
so quickly.

When a tree is old, the tubes in the centre of the tree don’t carry
water. The walls of the tubes have become thick with materials which
have stuck along them over the years, forming a kind of wood called
“heartwood”. This kind of wood is darker in colour than the young,
growing wood on the outside of the tree.

You don’t very often see whole tree trunks which have been cut
across. But once you learn to read a cross section of the wood, you can
see much more in wood which has been used to make boxes, houses, and
other things.

In most wood, instead of seeing the trunk cut across, you are seeing
it cut along its length. Because you don’t see the whole tree, you can’t
tell how old it was.

12. The writer says you can tell the age of a tree by
A. the rings on the outside of the tree
B. the colour of its rings
C. the size of the base of its trunk



13.

14.

15.

i
D. the number of rings in its trunk
When the wood of a tree is mostly light in colour, this means that the

tree
A. only grew in summer B. only grew in winter

C. grew quickly D. grew slowly

Heartwood is wood which is

A. slow-growing B. younger and lighter in colour
C. fast-growing D. older and darker in colour

If all the rings in the cross section of a tree trunk are wide and about the
same width, then we can tell that the tree o

A. grew slowly when it was young and more quickly later

B. grew quickly when it was young and more slowly later

C. grew slowly all its life

D. grew quickly all its life

(E)

Directions: Read the following text and choose the most suitable heading
from A-F for each paragraph. There is one extra heading which you do

not need.

. Difficult to cope with her studies
A strong character

Study coming first

Easy to get credits

Happy with her job

Not good at writing essays

THO 0>

16.

17.

Florence Sephton is 77 and lives in Deganwy, North Wales. She
is reading for an arts degree. “I’m more of & creature to polish my mind
than polish my furniture. The house takes second place while I put the
studying first, ”

“I was very happy at school and had wonderful teaching. I
passed the university entrance examination and was ready to go to
university but with World War II I went into banking. I was paid £1 a
week. Manchester University kept my place open for three years but I
was enjoying the money and the freedom so I turned it down. *

L )



18.

19.

20.

Mrs. Sephton is now in the second year of her Open University
course and is finding it hard work. “I’m feeling tired more frequently. I
can’t do more than an hour’s work at a time. The memory’s shocking.
I’m supposed to be reviewing and I look up notes I took earlier this year
and think,” Have you read this before? “So I’'m doing it very slowly -
one credit (% 4}) a year, so it’ll take six years. ”

“At the moment the greatest reward is simply the increase in
knowledge- -and the discipline. 1 had an essay failed this week. The
professor said I hadn’t answered the question. I’ve been thinking about
it all week. I know I haven’t got the facility (B /1) for essay
construction. I just let myself go and get excited. I feel more
emotionally than I do mentally. I’m very ordinary really. ”

While claiming to be ordinary and lazy, Mrs. Sephton is still
working hard daily at her assignments. Mrs. Sephton sees her studies as
keeping her fit and independent. “Because of my life I’ve been self-
sufficient. It’s not a very nice characteristic. It means I don’t care
enough about people. I can’t say I find comfort in what I’m learning, so
I’ll be interested to see if there’s a life ahead. ”



Step 2

Directions: Read the following four passages. Each passage is followed
bv several questions or unfinished statements. For each of them there are
Sour choices marked A, B, C and D. Choose the one that fits best

according to the information given in the passage you have just read.

(A)

As prices and building costs keep rising, the “do-it-yourself”(DIY)
trend in the U.S. continues to grow.

“We needed furniture for our living room,” says John Ross, “and
we just didn’t have enough money to buy it. So we decided to try
making a few tables and chairs. ” John got married six months ago, and
like many young people these days, they are struggling to make a home
at a time when the cost of living is very high. The Rosses took a 2-week
course for § 280 at a night school. Now they build all their furniture and
make repairs around the house.

Jim Hatfield has three boys and his wife died. He has a full-time job
at home as well as in a shoe making factory. Last month, he received a
car repair bill for $ 420. *I was deeply upset about it. Now I’ve finished
a car repair course, I should be able to fix the car by myself. ”

John and Jim are not unusual people. Most families in the country
are doing everything they can to save money so they can fight the high
cost of living. If you want to become a “do-it-yourselfer”, you can go to
DIY classes. And for those who don’t have time to take a course, there
are books that tell you how you can do things yourself.

1. We can learn from the text that many newly married people
A. find it hard to pay for what they need
B. have to learn to make their own furniture
C. take DIY courses run by the government
D. seldom go to a department store to buy things
2. John and his wife went to evening classes to learn how to
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A. run a DIY shop B. make or repair things
C. save time and money D. improve the quality of life
3. When the writer says that Jim has a full-time job at home, he means Jim
A. makes shoes in his home
B. does extra work at night
C. does his own car and home repairs
D. keeps house and looks after his children
4. What would be the best title {for the text?
A. The Joy of DIY B. You Can Do It Too!
C. Welcome to Our DIY Course! D. Ross and Hatfield: Believers in DIY

(B)

Astronomy is a branch of physics that holds a strong interest for
many people. Nowadays, research in astronomy covers quite a number
of areas: the origin and special features of the solar system; the birth and
evolution of stars, galaxies(£ %) and their motions; the origin of the
universe; and many more. Astronomy is different from other sciences in
that astronomers cannot experiment with the objects they study. Almost
all of our contact with the universe comes indirectly, through light,
colour, and other forms of radiation. Moon rocks and meteorites (3 & )
are the only objects from outside the earth an astronomer can actually
touch.

The work of astronomers is of two types: theory and observation.
Most astronomers do both types of work, but some do mainly one or the
other. Theoretical work in astronomy is developing mathematical
equations (5 8 &) to compute models. Mathematical models of stars
and the ways in which they evolve are examples of this type of work.
Observational work is observing stars or other objects, and analyzing and
explaining the results. '

Here is an example of the observing aspect of the work of
astronomers: observing black holes and explaining how they are born.

Many astronomers believe that a black hole is created when a large
star burns out nearly all of its own matter as fuel. When most of the fuel
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is used up, the star begins to die.

They also believe that the death of a star is not a quiet event. First
there is a huge explosion and its outer part is exploded off into space.
After the explosion, gravity pulls in what’s left of the star. As the
outside of the star sinks toward the center, the star gets smaller and
smaller. The more the star shrinks, the stronger the gravity inside it
becomes. Soon the star is very tiny, and the gravity is unbelievably
strong. In fact, the gravity is so strong that it even pulls light into the
star! Since all the light is pulled in, none can go out. The star becomes
black when there is no light. Then a black hole is born!

5. How is astronomy different from other sciences?
A. Astronomers cannot experiment with the objects they study.
B. Astronomers cannot experiment with rocks and meteorites.
C. Astronomers can experiment with light and colour on the moon.
D. Astronomers can study the universe directly.
6. Which of the following is NOT mentioned as an example of the theoretical
work or observational work in astronomy?
A. Working out ways in which stars evolve.
B. Developing mathematical equations to compute gravity pulls.
C. Observing stars as well as other heavily bodies.
D. Analyzing and explaining what is observed.
7. When does a star begin to die?
A. After building up its strong gravity.
B. After it has become a black hole.
C. Before exploding its outer part into space.
D. After using up most of its matter as fuel.
8. The passage mainly discusses .
A. the birth of a black hole B. the work of astronomers
C. the definition of stars D. the gravity inside a black hole

©

During the summer holidays there will be a revised schedule of
services for the students. Changes for dining-room and library service
hours and for bus schedules will be posted on the wall outside of the
dining-hall. Weekly film and concert schedules, which are being
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